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QUESTION 1

Which type of code represents the Controller in MVC architecture on the Force.com platform? (Choose 2)
A. JavaScript that is used to make a menu item display itself.

B. A static resource that contains CSS and images.

C. Custom Apex and JavaScript coda that is used to manipulate data.

D. StandardController system methods that are referenced by Visualforce.

Correct Answer: CD

QUESTION 2

What can be developed using the Lightning Component framework?
A. Hosted web applications

B. Single-page web apps

C. Dynamic web sites

D. Salesforce integrations

Correct Answer: B

QUESTION 3
Given the following code snippet, that is part of a custom controller for a Visualforce page:

public void updateContact (Contact thisContact) {
thisContact.Is_Active c = false;
try{
update thisContact;
}catch(Exception e){
String errorMessage = ‘An error occurred while updating the Contact. ‘+e.getMessage())
EpexPages.addmessage (new ApexPages.message (ApexPages.severity.FATAL,errorMessage));

In which two ways can the try/catch be enclosed to enforce object-level permissions and prevent the DML statement
from being executed if the current logged-in user does not have the appropriate level of access to the object? (Choose
two.)

A. Use if(thisContact.Ownerld == User.Info.getUserld())

B. Use if(Schema.sObjectType.Contact.isAccessible())

C. Use if(Schema.sObjectType.Contact.fields.Is_Active__c.isUpdateable())
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D. Use if(Schema.sObjectType.Contact.isUpdateable())

Correct Answer: CD

QUESTION 4

A developer uses a loop to check each Contact in a list. When a Contact with the Title of \'Boss\\' is found, the Apex
method should jump to the first line of code outside of the for loop.

Which Apex solution will let the developer implement this requirement?
A. return;

B. continue;

C. break;

D. System.assert(false);

Correct Answer: C

QUESTION 5

The values \V'High\\', WMedium\\', and \\Low\\' are identified as common values for multiple picklists across different
objects.

What is an approach a developer can take to streamline maintenance of the picklists and their values, while also
restricting the values to the ones mentioned above?

A. Create the Picklist on each object and use a Global Picklist Value Set containing the values.

B. Create the Picklist on each object as a required field and select "Display values alphabetically, not in the order
entered".

C. Create the Picklist on each object and add a validation rule to ensure data integrity.
D. Create the Picklist on each object and select "Restrict picklist to the values defined in the value set".

Correct Answer: A

QUESTION 6

Which three Salesforce resources can be accessed from a Lightning web component\\' Choose 3 answers
A. SVG resources

B. Third-party web components

C. Content asset files

D. Static resources
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E. All external libraries

Correct Answer: ADE

QUESTION 7

Which type of code represents the Model in the MVC architecture when using Apex and Visualforce pages?
A. A Controller Extension method that saves a list of Account records

B. Custom JavaScript that processes a list of Account records

C. Alist of Account records returned from a Controller Extension method

D. A Controller Extension method that uses SOQL to query for a list of Account records

Correct Answer: C

QUESTION 8

Universal Containers has an order system that uses an Order Number to identify an order for customers and service
agents. Order records will be imported into Salesforce.

How should the Order Number field be defined in Salesforce?
A. Lookup

B. Direct Lookup

C. Number with External ID

D. Indirect Lookup

Correct Answer: C

QUESTION 9

The sales team at universal container would like to see a visual indicator appear on both account and opportunity page
layout to alert salespeople when an account is late making payments or has entered the collections process. What can
a developer implement to achieve this requirement without having to write custom code?

A. Workflow rule

B. Formula field

C. Roll-up summary field

D. Quick action
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Correct Answer: B

QUESTION 10

Which two statement are acceptable for a developer to use Inside procedural loops?
A. Contactlist.remove(i)

B. Delete contactList

C. Account a=[select id,name from account where id=:con.accountid limit 1]

D. Contact con =new contact()

Correct Answer: AD

QUESTION 11

Developer needs to automatically populate the Reports To field in a Contact record based on the values of the related
Account and Department fields in the Contact record.

Which type of trigger would the developer create? Choose 2 answers
A. Before update

B. After insert

C. Before insert

D. After update

Correct Answer: AC

QUESTION 12

How many accounts will be inserted by the following block ofcode?
for(Integeri=0;i

Integer X;

if(@abok=false;integer=x;{

X=1;

}elseif(abok=true;integer=x;){
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X=2,
}elseif(abok!=null;integer=x;){
X=3;

)elseif{

X=4;}

A. X=4

B. X=8

C. X=9

D. X=10

Correct Answer: A

QUESTION 13

What can a Lightning Component contain in its resource bundle? Choose 2 answer
A. Custom client side rendering behavior.

B. Build scripts for minification

C. Properties files with global settings

D. CSS styles scoped to the component

Correct Answer: AD

QUESTION 14

Given the following trigger implementation:

trigger leadTrigger on Lead (before update){

final ID BUSINESS_RECORDTYPEID =\\'012500000009Qad\\';

for(Lead thisLead : Trigger.new){

if(thisLead.Company != null andand thisLead.RecordTypeld != BUSINESS _RECORDTYPEID){
thisLead.RecordTypeld = BUSINESS_RECORDTYPEID;

}

}

}
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The developer receives deployment errors every time a deployment is attempted from Sandbox to Production.
What should the developer do to ensure a successful deployment?

A. Ensure BUSINESS_RECORDTYPEID is retrieved using Schema.Describe calls.

B. Ensure a record type with an ID of BUSINESS_RECORDTYPEID exists on Production prior to deployment.
C. Ensure BUSINESS _RECORDTYPEID is pushed as part of the deployment components.

D. Ensure the deployment is validated by a System Admin user on Production.

Correct Answer: B

QUESTION 15

A developer Is Integrating with a legacy on-premise SQL database.

What should the developer use to ensure the data being Integrated is matched to the right records in Salesforce?
A. Lookup field

B. External ID field

C. Formula field

D. External Object

Correct Answer: B
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